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e Select the most appropriate answer and write the number in brackets

(1) Following diagram shows how the production level changed from A to B after the economlc growth process of
a certain hypothetical economy ¢ '
Fa _.([ 'y

Y |

clothes

‘Which can he the reason for such a change?
1. Skilled labourers of both industries migrating to other countries

2. Dropping-of labour productivity in beth industries -
_3. Decrease of aggregate demand of both industries

4. Removing of production subsidies by the government

5,

Privatization ofg:,ove: nment (W\Cib i - : e Lo )

@) Which of the following factors could aﬁccl to dec1ease the opportumty cost of a]locatmg resources for
consumption activities? ;
I. Existing of inflation in a constant Ie\*e!
2. Decrease of interest rates 2l _
3. People moving towards h icherincome levels
4. Decreasing the tax rates by the government : b
5 L\l)ansmn of money: ‘;upp!\ by-he: cemralbank"" s i e i RS

(3) Labeur is i\nown as a quick destroving f actor because ;

The labour productivity du,rmses as the labourer step mto old age '

2. The time thal the labourers canbe employed is ]lm1ted

3. Thelabour gets-depreciated with the time factor -

4. Thereare age limits for labour force - : _
5. The: bawmmnn power of idbnuz is weak ' . _- Ay ST yoo

—_—

(4 The;

2 Price w_n’ii‘; ()f factor ni ui\ei :

3. Price w:nd!a of both conimodity market and factor market
4

5

Direct intervention of government on income distribution : ; R e O e
The s_mJ\c.s orga.nmed by the labourers to increase the wages W) L SO

=(5% -Aiﬁ'he faCTors C\Lt‘pt one of th following affect the declme ot a planned economic system Select that factm
~which does not affect - : ; :
1. Existing of mismatches betwe ‘een m;_arkel dcmand and market supp]y
~ Decline of quality of the products
Non existence of sufficient incentives
~ Environmental degradation
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(6) Which ol i fullow g can be considered as a benefit of a planned ec:unomy theor etlcallv
L. Coming into decisions bused on-social cost and benefits
Showing decreasing returns 10 seale in production
(smummnt al\\a\s maintain a halanced budget
Production pattern shows the consumer preference .
Existence of a pe:fu.l substitulability hf:iween capital and labour p—

e Ly b

(7) One of the main component in a fiee market economy is

Fligher government inters ention

Public-property ownership

Private ownership

Wages and prices are determined by a central planning authority

Combination of both privale and state entrepreneurship Bk )

oI s e —

(8) Market economic system is estihlished L based on four factors. Select the answer which do not aﬁ‘ect
I Private property
Private enterprise
Self interest
Competitive propafrdndn o _
Freedon of choice . ©... . . T, A ' e o Stk

LT B SO S T N ]

(9) The .)rice clasticity of dcnmnd for ball point pen Is -3 0 . when the price of a pen becomes Rs. 25 a demand of
300 units exist. 11 the price decre; md to Rs.20, what quantity would be demanded?. - e o iy
St o i |1 G e ""'60(’1 e RN RRG 4.560 5.480 : - )

(1) T he demand »Lhedule and the before and after supply scheduies of a commodity when a unit tax is
imposed is viven ?n,low i

J.I.In.t Rs. ()u(rmm dun nukd Quantlt) supplied before tax | Quantity supplied aﬁer-m—ﬂ

=0 Cipd | R 20 T e

e e B | o= 30 e
Lo Lt 40 s 28

3 o ol o - 50 A L300

& il e g G e

\Mml 15 1he mnnunl nflhe 1ax nnpmed on the commodlty" - . ; : .

(11) A certain product is:sold only at the pn evallmg market pnce If the price increased even by a smail
- percentage, the quantity demanded decrease to zero. The market demand for that commodity is
1. Unitary elastic. 2. Flastic 3. [nelastlc 4, Perfect me!astlc 5. Perfect elastic

;;fuﬂf—\wcls,q—aéét%ﬁe—l=I-0—wmg—-¢|ﬁﬁ—!ﬁ—0\ isTTo ensure the Iaw of demand under lhe income efTect of pnce decrease '
' of the concerned product? - :
L Demand curve should be a \Ildl“h[ Ime wnh a negatwe slope
Nominal i income should be umhanued
Income elasticity of demand i should be positive
Purchasing power should increase as the nominal income is constant TR
~ Positive xuh-.titulc eneu should be more powerful than the negatwe income’ effect W el

Lt L) k2
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(13)

1. 200 e 3300 4.350 5,400 foln. e )

(14)  Assume that the supply equation of a given commodity 1s Qs = 100 + 10P. the supply equation of this
product when a ‘il tax of Rs. 5 i iniposed LRk

I, Qs 100 < 5p 40005 100+ 50P
20 Gse 0w s S Os 300+50P :
3. Qs 3000 0P [

(I5) A certain product has an inverse relationship betwecn price and quantity in its demand and a positive
~ relationship between price and yuantity in supply.  5000units of this product is sold at Rs.50 at a certain
instance and in anther instance 8000 units are sold at Rs. 60. This change can happen due to
1. Increase of price of o complement sood : ' '
2.Incrense of price of @ substitute goad
3.Imposing a sales tax on this cammoedity
4.Increasing the productivity ol inputs - Rl
- S.dnercasing the price of raw materiad ; et " gl AL )

(16) . The tollowing diagram represceits the labour market situation related to a certain occupation
- Wage level

~(Rs)

W, \

B

" Labour un its

e

T TTWhat would be the effect on transfer earning ‘and economic rent when the market supply curve shifts
fl’Om S| 10 S_‘E . - i y 1

[ Transfer é;-il'nings :ILﬂnOﬂ‘IIC rent |
I {increase " Tncréase
2. | Unchanged .' ;! Decrease .
5 i
| 3. | Increase | Decrease :
_ e s S
% 5. | Decréase %'l.Jn'cIﬁanged ; 3

' 7) ':Thc_ producer surph]s when the market supply curve is given as Qs = 100+20P and thé'lﬁarkefprice ié
Rs.10 - al = ' gl ' '

L B 500 2R AR — TS0 TR0 5.Rea2500 e 0 P

(I18) Incame elasticity of demand for cnmnmdify X takes a ._1_1_eg_at_i\{¢_}f_;_1_l_u_e__and__;_he_c_:_r._o;s_s__n_:la_sticity_..of demand-... .
. - between X.and Y commoditiestakes o valtie. Accordingly, which of the following is true regarding X? -
Lo X isandrmal good and it is a substitute for Y ; g

2. Xisanormal good and i1 is a complement for Y

- 3. Nisan inferior good-and it is a substitute for Y

4. Xisan inferior good and it is a complement for Y : s ;
5.0 Nisanormal good and Y i an inferior good s ; EhE R el e e )
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(19) Dlesiad dand “Hl"‘iﬂ\ u|lI Hoirs fora product sold in a competitive market are s.f,nen below
Qu 00 O (Js =100+ 1OP

0 34510 wnietax is charged Irom producers of this product, what is the tax revenue of the government?.
L #s71000 . 2. Rs. 2006 3 .Rs.3000 4.Rs.4000  5.Rs. 5000 - ()

200 A \'mlnca ion firm has 10 inerease the daily wages of a labourer from Rs. 800 to Rs.850, when the labour

force vl thie firm s increased lrom 100 10 101 per day. Accordingly, what is the marginal cost of labour per
day? '

i 1-;s,-'50” 2.Rs. 850 3. Rs. 5850 4. Rs. 80 000 5. Rs. 85 850 T

(21)  The snnual production cost vt a i is calculated by an economist and presented as follows

| Ttem o ' Cost (rs thousand)
Wigtw and salaries i 150
- Opportunity cost of Time of owner 3 i 40
_ _Cbsf n.f’mp;urcha.s.ing malerial ' 80
‘Rent _ _ : - 30
Mar keting cost 20
i Interest payments for hank loans 25
Interest income forgone by the owner for eapital = 1d

By how niaeh the cost caleulated by the economist exceeds the cost calculated by the accountant?
1z Re 3-050(] . 2 Rs. 53000 3 .Rs. 85 000 '4._ Rs. 305000 5. Rs. 360000 oo )
(22) The _ll‘:-['l()\«ring diagram shows the short ._run marginal cost curve of a firm

3

o
Lol

Q s Output

*

. Which of the fol!owmn could be the reason for upward s]ope of the curve when the output is mcreased _
nare than Q7 : :

1. Obstacles for entry_ - ~ 4.Lawof Dlmmlshmg re_tur_ns
2. Diseconomies-of scale 5. Marginal utility
e ]IIL 1851 e gupply __ S '- = el = S T (:] : T

(23)  Information relatb'gj:_lp a shor I‘LJ|l_|_}l_‘$_>:d_lF.CiiQ:i.} process Ofa.ccrtain.product..is.gi-ven below-— e
. _(__-_)L”l.l_l';L.I“{ :"_'Total cost | Marginal cost

ke 200 600

PSR  110420 220
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EGirade 13
When oo finm sroduces 5 unies Eco s
L Av LJ“‘]"-‘-‘L fixed ot - Ay crage variable cost |

Erisepcis el Ulibes - s

2. | 4e 44
3.1 " 84 - 12
154, 4 60 ; 40
Fo o !
{5 12 5 30 -

(24) A Dronwas obtaining a 40 unit productivi ity when 4 units of Iabour and 10 units ofcdpxtal Is blended. If the
‘marginn! productivity increased by 15 units as an extra labourer is recruited, the increase of average
productivity is _ y '

Lo 3 e T 3 15 4128 .« 5 o S

(25)  The fWllowing dizgram venue and {otal cost of a perfectly competitive

o firm, :
// b ! 4
Hadnadbsi e
Oé = o) i
R Do L
Y e | __
'm-Ihe_.ﬁ_[f.'-?_T_S...!11.@1;1;%.?!1'51-1_-__-_r_'-_g‘.:x'-.c-ma_c- {MR):can equal the-marginal cost-(MC)as the firm maximized the

profits? :
At Q) output Tevel
ALQy output lfevel
At Qz output level :
4. Between the range Qi and 3y
5 ..%ctwet:ﬂ the range Qj :-i.m'i '(;)_--.

(26) Whetis the reason for e earning nnl\ nor ma] pr of'ts in the 1ono run bv a perfeci compemwe frm?—-- . ——
= rkeePacing wgiven price by the Firm' . ;
- 2. Problem of obtaining market infor ma!lon
3o Entering of new firms (o the industry through free entry
1 1odnung homogeneais prodiicts
A \\}H_L‘}\lblbﬁce of markef [)ItJ])deﬂdﬂ G,
(27) e vertical dJSI’mCC bem cen the tot |I mst cume_(TC)and-total—vanable costcorve (TVCis. —~

——.! —~=Stoieased WIen o Oulpul muv'm

2. lncreased when output decicase _

- 3. Fauals to marginal cost ERIC 7 ol s e
sy S totaT fixed casp Ty, L T T T

S Byuals 1o average fixed cost (AFCY
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(28)

OTLUNITY COst 4. Avelage 10tdi cost
Poial Viriable ¢ 5. Total cost e
Total lixed cost : : Covmrivnl)

cosl

cugregale consumptic funclion of a simple economy is C =250 40.75 Y and investments [=450. The

i output level of this coonomy s

4. 10 2. 2800 3. 3600 4. 7200 5. 9000 {iseasa)

(30)  The increase of which facior ol the following would increase the investment multiplier?

- b Roney supply i 4. Marginal propersity to consume
2. byuilibrium output 5. Statutory reserve ratio _
3. Cersonal income tax raly b )

(1) Inthe contaction period of o business cycle

~ L Datpul decreases and the inesients increase
2. Diput decrease and uncinploy ment increase
3. Clulput increase and unciiploviicnt decrease
4. Clutput increase and nne ‘mplovment decrease _
30 Lath output and unemp_ln; ment increase ' 5 (orisenes)
(32)  The increase of output’ level of 4 closed economy, due to an increase of govemment purchases by Rs.80
where nmwmal propensity 1o wave is 0.25 and only autonomous taxes exist is
“IoRe30billion - 4. Rxs. 240 billion
74 i\':. 80.25 billion 3R, 320 billion
3. Rs. 160 bittion Btuinidh )
(33)  Which of the fotlowing will give the greatest increase in the aggregate demand?

: E, crense of taxes by Rs. 10 nniillion
2 rease of taxes by Rs. 100 million
5. herease of government purchases by Rs. 100 [TII“IDn
4. increase of taxes by Ry 100 million and increase of government purchases by Rs. 100 mlllron
3. ideercase of taxes by Ky, ! 00 nuilion and increase of government purchases by Rs: 100 miltion -

(34) ‘!'.i!e;- uregate sav ings ﬂmLHun ol a certain economy is given by the diagram. What is the effect on the
mary .upuu‘sn_\_« to save (MPS) and average propensity to save (APS) when the dlsposable income is
increns? i - ' '. ' : i

Savingg (Rs. m|llum} :

(4 » Disposable income (Rs. Million)
MPs | APS.
oy -

PERR llmhanged Increase | -

""" el Decrease Increase

300 ncrease Decrease

I “Increase “Increase

5. ¢ unchanged “decrease _

: (RN
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(35)  Which of the following is included in personal income but excluded from national income?
- 1. Company dividends 4. Undistributed profits
2. Transfer payments _ 5. Net interest
3. Social protection contributions ; (ovwizzes)

(36)  The expenses that should be added to calculate the gross domestic product to the expenditure approach is
Wages, profits, government purchases, net exports

Wages, rent, interest and profits

Ccnsumpuon investments, government purchases and exports

Consumption, investments, government purchases, net.exports

Ccnsumptlon government purchases taxes and interest . 2 T

.u».i}.um__.

(37)  Select the economic activities taken into consndcralion when ca]cu]atmg the national accounts
A — breeding of fish in a tank
B - forestry cultivated by man
C— learning and leisure
D- coI]ectmg water in a tank and dlstrlbutmg for agriculture

‘AandB 2. CandD  3.Aand & s, B andD 5. A andD _ e )

(38)  Which of the followmg are not. c(msrdcrcd as economlc actl\»']ucs which are taken placc in 2 houscho]d
unit? : - :
] Huntmg and fishing for own consumption
°2. Weaving of clothes and supplymg of water
3. Taking care of old aged ones in the family
4. Weavmg of clothes:and sewing clothes ] ;
8, Prepanng fish and meat for preservaton iSRG
39 I dcnt]ﬁy the col]cctwc govcmment consumptmn cxpendlture c»ut of the fc]]owmg gcvcmment cxpcnscs
e L CEducation . ¢ 4.. social protection expenses - S :
-2 Health N 5. Ehpcnscs on sports and Icisurc o
Bl Sccumy cxpenses el ' i el

it 3(41) Supply s;de f'actor that would aﬁ'ect the pnce mfl at;o 15_ _' :

(42) Cons;der that thc mcney supp]y is Rs 5[}00 b;l]mn --vciocstv—ef moncv—crrcmmm-ir‘fﬁ ‘0;—1‘%61—135159—*434

40). A m,ymp]c counting error would “oecur- -lf {he ‘\fa}LTB cf both capltai goods produced and the gccds that"arc '
produced using those capital goods are- included in national accounts. Th.ts prob]cm can bc avmdcd
a By deducting the capital goods consumpt}on (deprcc:latmn) i o
_* » 2. Byconsidering only the products produced usin g the capital gcods withof ut takm g caprtal goods value e '
3. By ccnsldcnng only the capital goods excluding the other products o nl e
A By meluding the depreciated value of capital goods: it g T e
’ 5 '_ By mc}udjng on]y the va] ue of mtermed1ate goods Lo

9 increase ofpnces ofmputs ' _' el A N e S e
3. Increase of gross domestic capital formatlon R

S Increase of government purchases '

5 hlcrease of net expcrts Sl

product 1s Rs:400 billion of a certain economy. Calculate the price level of this eccnomy _ o '_
. 40 it i __125 : 4. 400 5, 500 ot (..'.'.__...-.;) Vo

7]Dag e -_ i : Df\;](j _ [.' ;;g ,«; Cmic : ; . C s d 3 1 3 AT



(43)  Which of the following causes the demand pull inflation?
Rapid increase of mineral oil prices
Gaining of higher wages by labour unions ; W ; :
Purchasing of government securities by the central bank in the open market
Selling of government securities by the central bank in the open market :
Decreasing the purchases of goods and services by the government B iy )

I S

(44)  Assume that the total output of a certain economy increases by 2% and the stock of money increases by
5%. 1f the velocity of money circulation remain unchanged, what would be the increase of price level and
nominal value of total output to the nearest value? -

| Increase of Price level | Increasé o Nominal value of total output
2% e s 5% =

3% % : 5%

2% 3 oY 7%
2.5%0 10%

3% ! ' 1%

(_h..{:;bj!\_}n_.

g

)
A v
ISIDTISNICN means

fE\
)

. -Decrease of general price levels

‘Negative inflation :

Decrease of prices of necessary goods

Decrease of inflation rate - : : :

A method taken to decrease the value of a certain currency unit against another = - ()

AN B Lt

- Currency held by public. o

- Demand deposits of public e

~Savings and time deposits held by the public _

“Residents deposits in foreign currency banking units -~ : e
“Personal savings in the licentiate specialized banks S UL e NI Ll 0

(46) Which of the fdi]o’wih.g is not a-component of M;b monetary aggregate?

~ 1. Mediumof exchange. .~~~ 4. System of deferred payments -
~2. “Store Of value - : SMeasure .Of Va.]_u;e'_ Ly
-3.. Unit'of account ' : e e S

- _'.-'(47). .w:c;ﬁiafﬂa;e.roﬂossﬁngiias'k?-af-ﬂse_ﬁey-faatéd to ﬂa-e;'-spe-cuiaﬁve"mbtivexfﬁjﬁoﬁ;y aeaq—aﬁ'a? N

| {48)  Whichi of the following factors is not a determinant of high powered money?
.+ L. Credit granted to the commercial banks by the central bank s

2. . Netcredit granted to the govemment by the central bank .

ciforeign ataofthe contlihadk. . e b ona i T
5. -Net cred it granted to the commérc_ia__l.baﬁks by the central bank .

_(_'49_) = Obtal _ﬁi-ng of loans and repayments are n&hch"eaéier_d.ue to fh_e i’:se; of money; This task of money rsknown e
' 1 Stéionlwalie 1 o e e 4..Mea'sufe3_o'f\{a1ue'_ i e e
- 2. System deferred payments ... 5., mcdiumwoﬂe;ghangc-__ﬂ__-_;f_?: R e

3. "Unitof account
_(50) _ Seleot the incorrect statement e s e s s
- .. '1. Money demand for speculative motive is inversely related to the interestrates ..~ - . -
- Currency held by commercial banks and central bank is not a part of money supply
Money supply of a banking system.is several times of base money s 9 oo ien
 If frequent receipts.of money takes place , transaction motive of demand for money will decrease - :
3. Liquidity preference is the demand for money exist for increasing money supply- Y s
8|Page’. LI DMC~Eco nomics |~ Grade bgs oo S
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De Mazenod College- Kandana e IR-2016

+.C.E.(A/L) Examination 2017
Economies 11
Grade 13- 1 Term Evaluation 2016 November

Select two questivns from part A and two questions from part B and answer tive questions altogether

PART-A
01 ) state the difference between economic and non €Conomic resources (2 marks)
(it} ‘the problem of scarcity can be eradicated by economic growth’ , do you agree?
Explain : % (4 marks)
(i) what are the instances that the opportunity cost of economic goods as well as economic
~ Resources become zero? (4marks)
(iv) what are the main tasks of an entrepreneur? (4 marks)
(v) (a) what are social market economies? (3 marks)
(b) explain how a market economy solve basic economic problems (4 marks)
(02) (i) - show the situation of increasing opportunity cost by a PPC diagram {4 marks)
(ii) how can the fallowing concepts be shown in PPC diagrams?
a) Economic growth process
b) Economic decline
¢) Unemployment
d) The pioblem of resource scarcity (4 marks)
(ii1) "~ what arc the conditions that should be fulfilled to have efficient resource utilization (4 marks)
(iv)  state how the government of Sri Lanka intervenes to solve the problem of for whom to
* Produce? : (4 marks)
(v} explain the difference between the shifting of PPC to left and a point inside the PPC (4 marks)
03) @ state the Tactors that affect the demand curve to shift to right . (3 marks)
(i) why does the demand curve slopes downwards and the supply-curve shifts upwards - (6 marks)
Gif)  how do youidentily whether a commodity which has a downward sloping demand curve
- Isanormal good ? or an inferior good? (3 marks)
(iv) - what are the special instances that demand behave against the law of demand? (3 marks)
(v) . define market disequilibrium. Explain with a suitable diagram how a market ' ;
disequilibrium status come back to the equilibrium status again _ (5 marks)
(w4)  the demand and supply conditions of a certain commodity are given below
Price . " Quantity demanded " Quantity supplied
30 : 70 : 10 g
49 - . : 60 30 '
(1) derive the demand and su pply equations (4 marks)
(i) find the market equilibrium price and quantity = (2 marks)
(i) calculate the demand elasticity and supply elasticity at Rs.30 L e (Aemarke)
L - ) calculared he-eosstimer-and-producer surplus at the equilibrium (4 marks)
(v) assume that the government imposes a Rs.6 unit tax on this commodity. Derive the
supply equation atier tax ; : _ (2 marks)
(vi)  find the new equilibrium quantity and price after tax_ ; (2 marks) -
(vil)  what s the tax incidence on consumer and producer? i (2 marks)

Bagedofd -7 . ~ (A/L2017 - DMC ~Econ Il



05y (i)
(ii)
(iii)
(iv)

)

@6 (i)

PART -B

name the two main markets identified in economics (2 marks)
state the difference between direct cost and indirect cost giving one example for each (4 marks)
define “normal profits™. State why normal profits are included when calculating the total

Production cost of a firm? - - (4 marks)
state two similarities and two d:ssumlarmes between perfect competltlon and monopolistic

' Competition (4 marks)

following data related to a perfect competitive firm are given below. (assume that the firm
is at the profit maximizing level)

average fi fixed cost Rs.50
average variable cost Rs.70
units produced 1200
_price of a unit Rs.100
“a) Calculate the economic profit or loss (2 marks)
b) How much is the marginal cost ' (2 marks)
¢) Should the firm continue its production? Or should close? Explain (2 marks)

give two examples for cach informal economic activities and hidden economic activities (4 marks)

(ii) what is meant by multiple counting error? What are the ways of avoiding this error? (4 marks)
(iii} wharam the productive economic activities which are not included in national accounts? (4 marks)
(iv)  fill in the blanks
a) Gross domestic product = gross national ProduCt - .........oo.ovveeeeeceeeeee oo
by Gross national product to the market price = net national product to the factor cost +
............ e I e NG T e SR i
¢} Gross domestic product to the fixed price = Gross domestic product to the market price x 100
—d) Gross domestic product to the market price = consumer goods + investment good +
| (4 marks)
W) acertain economy achieved a 12% increase in the gross domestlc product to the market price during a
certain vear. Docs it show a 12% economic growth in that year? Give reasons for your answer
(4 marks)
07 “the following details related 1o a macro economy are provided to you :
Private consumption  C = 500+0.6Yd taxes - Tx =200
Investments [ =320 Government consumption G =270
Transfers Tr=50 - Disposale income Yd=(Y ~-NT)
(i) calculate l:hE_: aggregate demand and savings function : . ' —(&marks—  —
(ii) construct.the withdrawals equation (4 marks)
(iif)  calculate the equilibrium national income using aggregate income —expenditure approach
and withdrawals —injections approach . ; ' . (8 marks)
(iv)  whatis neant by withdrawals and injections-related to an open economy T T AR
Page 2 of 3 {A/L 2017 — DMC —Econ II)
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08) () explain the difference between absolute price, comparative price and general price level (3 marks)
(ii) what are the facts that can be put forward to prove that the Colombo Consumer Price Index
(New) is more suitable than the whole sale price Index to measure the standard of living (3 marks)
(i) What is the effect of inflation on the following parties
a) Investers
b} Fixed income earners
¢) Fixed depositors
d) Lenders of money ] (4 marks)
~{iv) what are the weaknesses existed in the barter economy 2 marks)
(v) explain the limits that the current notes and coins have related to store of value (2 marks)
i) what are the components related (o narrow money supply, broad mbney supply,
Consolidared broad money supply and monetary survey? (6 marks)
Page 3 of 3 (A/L 2017 — DMC —Econ n



